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BEUSINESS SKILLS CENTER

%8 Chapter 438

«*» Exercise 1:

Ledger accounts of a company include the following accounts before adjusting entries hz

been recorded.
Trial Balance
(partial listing of selected accounts)

September 1, 2023

Debit Credit
Supplies $ 2,500
Prepaid Insurance 2,400
Equipment 30,000

_* Unearned Rent Revenue 10,000

Note Payable 20,000

An analysis of the account balances provided the following information:

1. The prepaid insurance is & one-year fire insurance policy that was purchased on
September 1, 2023.

A physical count of office supplies revealed that all supplies were used by the end of

September, 2023.

=

3. Office equipment depreciates $6,000 per year.
4. The unearned rent revenue coveronths starting from September 1, 2023.
5. On September 1, the company borrowed $20,000 from a local bank on a 1-year note.

The annual interest rate is 9%.

&

On September 30th, the company owed its employees 51,000 in salaries that will be
paid on Oct 15.
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BEUSINESS SKILLS CENTER

+» Instruction:

Using the information above, record the adjusting entries that should be made by this

company for September month only.
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1. Depreciation on equipment is $S800 for the accounting period.
2. There waf(nb)beginning balance of supplies and $528 of supplies were purchased during the period.
Ny
At the end of the period $123 of supplies were on hand.
3.

USINESS SKILLS CENTER

+» Exercise 2:

Prepaid rent had a $840 normal balance prior to adjustment. By year end $354 was unexpired.
==

—_—

Prepare adjusting entries for the above transactions.
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BUSINESS SKILLS CENTER

+» Exercise 3:

Prepare adjusting entries for the following transactions.

1. Depreciation on equipment is $1,342 for the accounting period.

2. Interest owed on a loan but not paid or recorded is $280.

3. There weginning balance of supplies andf office supplies were purchased during the

period. At the end of the period $100 of supplies Were on hand.

4, Prepaitzren@ad a $1,000 normal balance prior to adjustment. By year end|$700 had expired.

5. Salaries incurred by year-end but not yet paid or recorded amounted to $900.
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s Exercise 4:

Given the following account balances for a company: Adjusted Trial Balance
(December 31, 2022)

Calculate the following (write only the final answers):

a. Total Non-Current Assets: __\_3_ o

b. Total Equity: _%@9_.

The closing entry for expenses and revenues accounts only.

Account Debit ($) Credit (S)
Cash 3,000
Accounts Receivable 2,000
Inventory 1,000
Equipment 10,500
Accumulated Depreciation 2,000
Goodwill 5,000
Accounts Payable 4,000
Unearned Service Revenue 1,900
Long-term Loan (Bank) 5,000
Common Stock 8,000
Retained Earnings (1/1/2022) 3,100
~4 | Dividends 2,000
'ﬁg Service Revenue 3,000
4* Supplies Expense 600
% Depreciation Expense 2,900
Total 27,000 27,000
6
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<+ MCQ:

Choose the correct answer from the following:

1. Expenses paid and recorded before they are used or consumed are called:
Rent expenses

a
b. Unearned revenues

c. Prepaid expenses
d. Accounts receivables
[«
2. Revenue received and recorded as a liability before it is earned is referred to as:
a. Unearned revenues
b. Prepaid expenses
c. Accounts payable
d. Notes payable

o)

3. Al Auto Shop follows the revenue recognition principle. Al services a car on August 31/

The customer picks up the vehicle on September 1 and mails the payment to Al on

September 5. Al receives the check in the mail on September 6.\When should Al show

that the revenue was recognized? = .
o\ Serd Ce

a. September 5
b. August 31
c. Augustl
d. September 6

Time

Cash Bagss
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4. A company had the following transactions during

ﬁh— e Sales of $9,180 on account
. A ,-
e performed i@ E@J Kxx

e Collected $4,080 for services to b

C’?- 830 cash in salaries fo @ 2o 7_(1

e Purchased airline tickets for $51071h December for a trip to take place i T

;MQL/

What is the company's 2024 net income using accrual basis accounting?
a. $9,940

b. $9,430 Rer qi¥o0 COISL\ ,x

c. $5,860 f';% 2g3e

@sssso S—
~ Wil S3Seo d.

5. An architecture firm collected $2,200 for architecture services to be provided in the
future and recorded it as a liability. No entry was made at the time the service was

provided. If no adjusting entry is made, this would cause:

'x_revenues to be overstated. MV\CQ/ EN..‘.

V( net income to be overstated.
e — L o
% liabilities to be understated.

d. revenues to be understated.

6. Which one of the following is true as it relates to the Accumulated Depreciation
account?

a. Itis an operating expense.

b. Itis offset against an asset account on the income statement.

c. It represents the portion of the cost of a long-lived asset that has been allocated as a
cost during the current accounting period.

d. Itis a contra account.

9
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7.

Tamkeen Industries borrows $18,000 at a 5% annual interest rat¢ for six igdnths on

October 1,2025. |~ ), S

If Tamkeen has a|December 31, 2025, yeal'-end, which is the correct entry to accrue

interest?
Interest Expense 225
Interest Payable 225
Interest Expense 900
Notes Payable 900
Interest Expense 900
Interest Payable 900
Interest Expense 225
Notes Payable 225

| Bese A S~

(2 = 22¢< e,

s L
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98 Chapter 5%
SY. | o A"V)

+* Exercisel1:

Both Tim Company and SmSa company are furnituse retailers and use the perpetual
inventory system:

- On June 14™, Tim purchased merchandise inventory at a total cost of $4,500 from SmSa

company. Cred-ere /10734, FOB shipping point.
~NN—
- OnJune 15th, The transportation costs for this merchandise inventory by $300 was
S
paid in cash.
—_—
- OnJune 18" damaged inventory costing $500 were returned to the seller (SmSa) for a
credit reduction.

- OE June 21*",|Tim paid full due amount that was payable to SmSa.

¢ Instruction:

a. Prepare journal entries to record these transactions into SmSa company books on June

Solution:

Account titles Debit Credit

Juwnay T-U\Udsﬁ/, UCoos ]
S

|0days y.
Janl(s ’L/\Uad.b_ Jeoo
@SN

Twued Ny Soo.

SW\’L"’ Y 560 —Ces /VCCD
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% Exercise 2:

Sheridan Company is a furniture retailer and uses the perpetual inventory system. On
January 14, 2025, Sheridan purchased merchandise inventory for $49,000. Credit terms
were 2/1;_0, 30. The inventory was sold on account for $50,500 on January 21, 2025.

e —

Credit terms were 1/10, n/30.
The accounts payable was settled on/January 23, 2025,

and the accounts receivables were settled on January 30, 2025.

+* Solution: Jon Mz ‘tv\uw:? Yaoes.
W 2% \odoy - e "o 000
30\\’\\ / Jonzl 2 Pr(l <oSoe
—>;L_ (Ud% KQLLKE\/E&/\WC SoSoo-
30\~r\‘1“" oS Yoo
L\ Tiee o Y9006 -
an~
Gny
(e T f Y4co0
/g\ 2. Tped oy LA x2, Q¥
> 3-8 Ugo20

’S/

Jan 3= -~ @ saledis (S Swsx|/) ToS
@ (851 (505%0-55) UA99 5.
% Exercise 3: ®© AR SaCoo
On September 4, Blossom Knickknacks buys merchandise on account from Novak Supply

Company. The selling price of the goods is $2,000 and the cost of goods is $1,400.
‘companies use the perpetual inventory systems. h

% Solution:

Koger = R ossem s |len Nova (<

Segw: Lhveky 2000 Sep CNffRIZESS
P 9000 CalePser, 2oca

(o6s Moo
Lok Yoo
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+* Exercise 4:

Swifty and Company sold $2600 of merchandise on account to Ayayai, Inc. on March 1 with
I —_————

credit terms of 2/10, n/30. Ayayai returned $740 of the merchandise due to poor quality on

March 3. If Ayayai pays for the purchase on March 11,

what entry does Swifty make to record receipt of the payment?

+* Solution:

9 _Saledise (1862 X224 ). 34
7 Casln (Ighe —x3) - 1825

AR (Zéoo ~Ho). (Lo -

% Exercise5:
A company buys $100 of merchandise onMarch 1, with credit terms 3/15, n/30. If the

company pays on - @ost of this @

+* Solution: QY\A ?Q\/\ h?

@ PW—— et -

|£5®—O - \m_

@- Mev\ + (§d= = yar|l.

\0o A3/ =

@ - -t - (T
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+* Exercise 6:

C

¢ Required:

The adjusted trial balance of a company included the following selected accounts:

Sales Revenue 5631,000
Sales Returns & Allowances $55,000

Sales Discounts 9,500

Cost of Goods Sold 407,000

Advertising Expense 16,000

Interest Expense 21,500

Salaries and Wages Expense 82,000

Utilities Expense 23,000

Depreciation Expense 3,500

Interest Revenue 23,500

Use the above information to prepare a multiple-step income statement for the year ended

December 31. The company hassa tax rate of 20%.
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% Exercise 7:

The adjusted trial balance of a company included the following selected accounts:
Sales Revenue: $100,000

Sales Returns and Allowances: $5,000

Sales Discounts: $2,000

Land: $1000,000

Cost of Goods Sold (COGS): $50,000

Salaries and Wages Expense: $15,000

Utilities Expense: $5,000

Depreciation Expense: $1,000

Interest Revenue: $5,000

Interest Expense: $3,000

Tax Rate: 5%

¢ Instructions

Use the above information to prepare a multiple-step income statement for the year ended

December 31.

!ME@&AR \&s s
e ek Seso
Sale A e Lass

= Net € a)e A3cos

(OG-S Socos

D st prot - M<o0s

opz'm& el

Salovrelp  [Sasa _

£ e Sam
Peger-  (cos 2o

~+—othes R=ren
twke Rg, TSa00

_c)(-\,\c =
lwkeredy —3oo
& Tneow L){/ar«{fu Yoo
—raxe® (2yos XS2) 1200

@ Ned i loune L2300 -
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+» Exercise 8:

If beginning inventory is $60,100, cost of goods purchased is $381,400, sales revenue is

$800,900 and ending inventory is $51,300, how much is cost of goods s

system?
Purthase
PWQ\/\ Bk
P\wg/\ Jnsee
@ Nek Puwrdnase -
A
Eviy
@ CostoR Rurtnase 3R | YO
e o fnvad ¥
e \netoy éoloo
® awilble Govsate YU\ Soo
Gidety (nvat S| Za=
@ endoss 2o~

+» Exercise9:

The following information is available for Sheffield Produce Market:

Sales $231000
Ending merchandise inventory 28000
Sales discounts 1000
Purchases 126000

How much is Sheffield’s cost of goods sold?

Freight-in
Purchase returns and allowances
Depreciation expense

Beginning merchandise inventory

Puwrthase ) 26000
Pwrzv Bk S ‘;oo
PWZA s ;

@ Nek Pwwrdnase - 12 oR00
Erty —in \2ece
CostalR RurUnasy o

© bes Svaboy ‘ééﬁw

® awalble Govsare \ ¥ oo
E[/\al/bg (nvet ‘2{000

G emCos: \YY 2@

18

under a periodic

8800
38400
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+» Exercise 10:

Sales = $100
~ Ending Inventory = $10

Purchase Returns = §_2
Purchases = $50
Freight-in = 4
Sales discounts= $10
Depreciation expense 20

.’& Beginning Inventory = $8
How much is Jarir’s cost of goods sold?

+* Solution:

19

The following information is available for Jarir company:
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X L—

Periodic System Perpetual System
1. Do not keepdetailed records of the 1. Maintain detailed records of the cost of
goods on hand. each inventory purchase and sale.

(9 Cost of goods sold determined by cougt @ Records continuously show inventory

at theof the accounting period.

>
that should be on hand for every item.

3. @ unning account of changes in @ Company determines cost of goods sold
inventory. a sale occurs.

4. Ending inventory determined by 4, Traditionally used for merchandise with
physical count. high unit values.

5. Cost of goods sold not determined until | 5. Shows the quantity and cost of the
the end of the period. inventory that should be on hand at any
time.

6. Provides better control over inventories

than a periodic system.

20
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1. Brian Company purchases $4,49.‘ merchandise on March 1, with credit terms of
3/10, n/30. If Brian pays on March 10, what is thI? cost of this purchase?|

a. $4,041
— —_0 =
b. $4,490 ‘ b‘ qO\Q \{qq ©

() $4:355 2 _yylboe x37 = \3S
d. $4,131 2_ Yyqo—I3s = Y3 E5

<
2. The following information is available for Flint Produce Market:
Sales $237,000 d:. Transportation expense $9,400
,%. Ending merchandiseinventory 30,500 < Purchase returns and allowances 1,800
Sales discounts 2,400 Depreciation expense 2,000
Purchases 127,000 <& Beginning merchandise inventory 35,800
How much is Flint's cost of goods sold? ‘;xg;h- ‘Tg.:f
a. $159,900. o Tire Tatass
$139,900. © T oo
c. $134,100. © oliTE Mysues

. @ Cos<s.
d. None of these answer choices are correct. ITa9®

3. Under a perpetual inventory system:

accounting records continuously disclose the amount of inventory.

a.
b. increases in inventory resulting from purchases are debited to Purchases.

c. thereis no need for a year-end physical count.

d. the account Purchase Returns and Allowances is credited when goods are returned to vendors.

A

21
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+» Exercise 1:

%8 Chapter 6

N4

A Company used the periodic inventory method and had the following inventory information

vailable
Units Unit Cost Total Cost
1/1 Beginning Inventory 15 $8,00 $120
2/20 | Purchase 60 $8,50 510
7/25 | Purchase 30 $9,00 270
10/20 |Purchase 45 $10,00 450
150 $1,350

A physical count of inventory on December 31 revealed that there were 75 units still on

hand.

¢ Instruction:

Answer the following independent questions (write the final answer only):

1. Assume that the company uses the LIFO method. The value of the cost of goods sold at
December 31 is $...5. o

2. Assume that the company uses the Average cost method. The value of the ending

inventory at December 31 is SQ,‘;\-S

IR
( Y Cotr bk [TW
bey inved ls x 8 = 1o
Pul- Lo *  @.s - Slo
Puvte Te x 4 - LYo
PuAn Mg X o = \{/';e\
[§o s quap) bhe— (1258
\L AT L&- ' Average
|t = v2m [USKIOZUSS ”g’”° R RS Wh- o -@
bves 26X A = 230 | bexsS: Sle
@S35l [ T4 A = TR0 — = COGS-3sxq =EFS:
Gs| e &I &
S Coci (bLS (6EL Sb- ISk MEFS
h - ' 1350
| o \3Co
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+» Exercise 2:
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A company uses the periodic inventory method and has the following inventory details:

Date Description Units Unit Cost Total Cost

1/1 Beginning Inventory 10 $5.00 $50

3/15 Purchase 40 $6.00 S240

6/20 Purchase 20 $7.00 $140

9/10 Purchase 30 $6.00 $180
Total 100 $610

Required: Write only the final answer for each of the following:

At the end of the year (December 31), a physical count shows 40 units are still on hand.

1. If the company uses FIFO, the cost of goods sold (COGS) at December 31 is

$. 360 .

2. If the company uses Average Cost, the ending inventory at December 31 is

s. LYY

\ Lo - j

23

Date Description Units Unit Cost Total Cost
1/1 Beginning Inventory 10 $5.00 $50
3/15 Purchase 40 - $E.OO $240
6/20 | Purchase 20"~ (5700 $140
9/10 | Purchase 30 |$6.00 $180
Total 100 $610
Y —
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+» Exercise 3:

A company used the periodic inventory method and had the following inventory information

available:

Date Units Unit Cost Total Cost
1/1 (Beginning Inventory) 10 $2.00 $20

3/10 (Purchase) 20 $3.00 S60

6/15 (Purchase) 10 S$4.00 S40

9/25 (Purchase) 10 $3.00 S30

Total Inventory 50 $150

A physical count of inventory on December 31 revealed that there were 20 units still on

hand.

** Instructions

Answer the following independent questions (write the final answer only):

1. Assume that the company uses the FIFO method. The value of the cost of goods sold at

December 31isS__

o

2. Assume that the company uses the Average cost method. The value of the ending

Date Units Unit Cost Total Cost
1/1 (Beginning Inventory) ,m $2.00 $20

3/10 (Purchase) \20/ $3.00 $60

6/15 (Purchase) 10\ $4.00 $40

9/25 (Purchase) N0/ $3.00 $30

Total Inventory 50 Com— $150

@
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1. Salam Company counted its inventory on December 31, 2025, and found it to be $100

However, the following items wer*not included h the count: f\l
>< has currently goods with a cost of $20 on its sales floor that belong to Salam
g—

Salam Company - $10 of goods that were shipped on December 27, FOB

M -n, that will be received by Salam Company on January 3. ep(%di -

What is the correct total inventory amount for Salam Company on December 31, 2025?

a. $100 'S.l/\ue,..& |00

BIEES + (oS(s 7.62)

d. $130 e DY

Elﬂd Iu\u&ﬂ:

2. An in the physical count of goods on hand at the end of a period resulted in a
$10000/overstatement of the ending inventory. The effect of this error in the current
period is

Cost of Goods Sold Net Income

Select answer from the options below

a. Understated Understated
b. Overstated Overstated
c. Understated Overstated
d. Overstated Understated

enor -
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the following transactions:

//‘

3. As aresult of athorough physical inventory Concord Company determined that had

inventory of $162,000 at December 31, 2025. This count did any determined that it had

>< e Flounder Consignment store currently has goods with a cost of $31,500 on its sales
floor that belong to Concord but are being sold on consignment by FIounder.__3 'W\(J,\,U\d e
e Concord purchased $11,700 of goods that were shipped on December 27, FOB
destination, that will be received by Concord on January 3. | ex( l CQ,Q )

Determine the correct amount of inventory that Concord should report.

S R i
’ 215060
c. $205.200 @

d. $173,700 AT <Soo

4. An error in the physical count of goods on hand at the end of a period resulted in a
$10,400 overstatement of the ending inventory. The effect of this error in the

current period is

Cost of Goods Sold Net Incom
Select answer from the options below
a. Understated Understated
b. Overstated Overstated
c. Understated Overstated
d. Overstated Understated

enr -
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** Question 2:

Assume that a physical count of Adidas AG's inventory as year-end determined that
inventory on hand had a value of $1612,000 Upon further investigation, it was
determined that this amountlincluded The following:

K ?v-\.u/‘

1. An inventory purchase of $51,000 made by Adidas shipped from Amazon on December

S——— .
28 with terms FOB destiration, but not due to be received until January 3 @
V® Goods shipped tmith a cost of $70,700 with terms ”\UM

December 29, but not expected to reach their destination until January 3.
: Clle— : S
DL Goods shipped to a customer with a cost of $54,100 with terms FOB shipping point on aw

December 30, but not expected to reach their destination until January 5,

>< @ Goods held on consignment from Lock Laces Company with a cost $17,300, Ex( 0 ’ e

Compute the amount that should be reported for inventory on Adidas AG's balance sheet at

December 31

Inventory ) | (_/i Zg égzg
/
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%8 Chapter 438

s Exercise 1:
Ledger accounts of a company include the following accounts before adjusting entries have
been recorded.
Trial Balance
(partial listing of selected accounts)

September 1, 2023

Debit Credit
Supplies $ 2,500
Prepaid Insurance 2,400
Equipment 30,000
Unearned Rent Revenue 10,000
Note Payable 20,000

An analysis of the account balances provided the following information:
1. The prepaid insurance is a one-year fire insurance policy that was purchased on

September 1, 2023.

d

A physical count of office supplies revealed that all supplies were used by the end of
September, 2023.

3. Office equipment depreciates $6,000 per year.

4, The unearned rent revenue covers 10 months starting from September 1, 2023.

5. On September 1, the company borrowed $20,000 from a local bank on a 1-year note.

The annual interest rate is 9%.

o

On September 30th, the company owed its employees $1,000 in salaries that will be
paid on Oct 15.

2
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% Instruction:
Using the information above, record the adjusting entries that should be made by this

company for September month only.

Accounts titles Debit Credit

3
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+* Exercise 2:

1. Depreciation on equipment is $800 for the accounting period.

2. There was no beginning balance of supplies and $528 of supplies were purchased during the period.

At the end of the period $123 of supplies were on hand.

3. Prepaid rent had a $840 normal balance prior to adjustment. By year end $354 was unexpired.

Prepare adjusting entries for the above transactions.

4
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+» Exercise 3:

Prepare adjusting entries for the following transactions.

1. Depreciation on equipment is $1,342 for the accounting period.
2. Interest owed on a loan but not paid or recorded is $280.

3. There was no beginning balance of supplies and $550 of office supplies were purchased during the

period. At the end of the period $100 of supplies were on hand.
4. Prepaid rent had a $1,000 normal balance prior to adjustment. By year end $700 had expired.

5. Salaries incurred by year-end but not yet paid or recorded amounted to $900.

5
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% Exercise &:

Given the following account balances for a company: Adjusted Trial Balance
(December 31, 2022)

Calculate the following (write only the final answers):

a. Total Non-Current Assets:

b. Total Equity:

The closing entry for expenses and revenues accounts only.

Account Debit ($) Credit (S)

Cash 3,000

Accounts Receivable 2,000

Inventory 1,000

Equipment 10,500

Accumulated Depreciation 2,000

Goodwill 5,000

Accounts Payable 4,000

Unearned Service Revenue 1,900

Long-term Loan (Bank) 5,000

Common Stock 8,000

Retained Earnings (1/1/2022) 3,100

Dividends 2,000

Service Revenue 3,000

Supplies Expense 600

Depreciation Expense 2,900

Total 27,000 27,000
6
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<+ MCQ:

Choose the correct answer from the following:

1. Expenses paid and recorded before they are used or consumed are called:

a. Rent expenses

b. Unearned revenues

c. Prepaid expenses

d. Accounts receivables

2. Revenue received and recorded as a liability before it is earned is referred to as:

a. Unearned revenues

b. Prepaid expenses

c. Accounts payable

d. Notes payable

3. Al Auto Shop follows the revenue recognition principle. Al services a car on August 31.
The customer picks up the vehicle on September 1 and mails the payment to Al on
September 5. Al receives the check in the mail on September 6. When should Al show
that the revenue was recognized?

a. September 5

b. August 31

c. Augustl

d. September 6

8
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A company had the following transactions during 2024:
Sales of $9,180 on account

Collected $4,080 for services to be performed in 2025
Paid $3,830 cash in salaries for 2024

Purchased airline tickets for $510 in December for a trip to take place in 2025

What is the company's 2024 net income using accrual basis accounting?

a. $9,940
b. $9,430
c. $5,860
d. $5,350
5. An architecture firm collected $2,200 for architecture services to be provided in the
future and recorded it as a liability. No entry was made at the time the service was
provided. If no adjusting entry is made, this would cause:
a. revenues to be overstated.
b. netincome to be overstated.
c. liabilities to be understated.
d. revenues to be understated.
6. Which one of the following is true as it relates to the Accumulated Depreciation
account?
a. lItis an operating expense.
b. Itis offset against an asset account on the income statement.
c. It represents the portion of the cost of a long-lived asset that has been allocated as a
cost during the current accounting period.
d. Itis a contra account.

9
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7. Tamkeen Industries borrows $18,000 at a 5% annual interest rate for six months on
October 1, 2025.
If Tamkeen has a December 31, 2025, year-end, which is the correct entry to accrue
interest?
a. Interest Expense 225
Interest Payable 225
b. Interest Expense 900
Notes Payable 900
c. Interest Expense 900
Interest Payable 900
d. Interest Expense 225
Notes Payable 225

10
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%8 Chapter 53¢

s Exercise 1:

Both Tim Company and SmSa company are furniture retailers and use the perpetual

inventory system:

- OnJune 14™ Tim purchased merchandise inventory at a total cost of $4,500 from SmSa
company. Credit terms were 5/10/30, FOB shipping point.

- On June 15th, The transportation costs for this merchandise inventory by $300 was
paid in cash.

- OnJune 18" damaged inventory costing $500 were returned to the seller (SmSa) for a
credit reduction.

- OnJune 21*", Tim paid full due amount that was payable to SmSa.

¢ Instruction:

a. Prepare journal entries to record these transactions into SmSa company books on June
14t only.

Solution:

Account titles Debit Credit

11
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% Exercise 2:

Sheridan Company is a furniture retailer and uses the perpetual inventory system. On
January 14, 2025, Sheridan purchased merchandise inventory for $49,000. Credit terms
were 2/10, n/30. The inventory was sold on account for $50,500 on January 21, 2025.
Credit terms were 1/10, n/30.

The accounts payable was settled on January 23, 2025,

and the accounts receivables were settled on January 30, 2025.

s Solution:

+* Exercise 3:

On September 4, Blossom Knickknacks buys merchandise on account from Novak Supply
Company. The selling price of the goods is $2,000 and the cost of goods is $1,400.
Both companies use the perpetual inventory systems.

+* Solution:

12
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% Exercise 4:
Swifty and Company sold $2600 of merchandise on account to Ayayai, Inc. on March 1 with

credit terms of 2/10, n/30. Ayayai returned $740 of the merchandise due to poor quality on

March 3. If Ayayai pays for the purchase on March 11,

what entry does Swifty make to record receipt of the payment?

s Solution:

+»+ Exercise5:
A company buys $100 of merchandise on March 1, with credit terms 3/15, n/30. If the

company pays on March 10, what is the cost of this purchase?

+* Solution:

13
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+* Exercise 6:

The adjusted trial balance of a company included the following selected accounts:

Sales Revenue 5631,000
Sales Returns & Allowances $55,000

Sales Discounts 9,500

Cost of Goods Sold 407,000

Advertising Expense 16,000

Interest Expense 21,500

Salaries and Wages Expense 82,000

Utilities Expense 23,000

Depreciation Expense 3,500

Interest Revenue 23,500

¢ Required:
Use the above information to prepare a multiple-step income statement for the year ended

December 31. The company has a tax rate of 20%.

15
SSal A0 VI e g sl Lgds 5 sma Wy pill Jlee W1 g 38 pal i s (3 sial) maen




B et 53

s Exercise 7:

The adjusted trial balance of a company included the following selected accounts:
Sales Revenue: $100,000

Sales Returns and Allowances: $5,000

Sales Discounts: $2,000

Land: $1000,000

Cost of Goods Sold (COGS): $50,000

Salaries and Wages Expense: $15,000

Utilities Expense: $5,000

Depreciation Expense: $1,000

Interest Revenue: $5,000

Interest Expense: $3,000

Tax Rate: 5%

% Instructions

Use the above information to prepare a multiple-step income statement for the year ended

December 31.

16
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+» Exercise 8:

system?

+» Exercise9:

Sales $231000
Ending merchandise inventory 28000
Sales discounts 1000
Purchases 126000

How much is Sheffield’s cost of goods sold?

The following information is available for Sheffield Produce Market:

Freight-in
Purchase returns and allowances
Depreciation expense

Beginning merchandise inventory

18
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% Exercise 10:

The following information is available for Jarir company:
Sales = $100

Ending Inventory = $10

Purchase Returns = $2

Purchases = $50

Freight-in = 4

Sales discounts= $10

Depreciation expense 20

Beginning Inventory = $8

How much is Jarir’s cost of goods sold?

+ Solution:

19
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1. Brian Company purchases $4,490 of merchandise on March 1, with credit terms of

3/10, n/30. If Brian pays on March 10, what is the cost of this purchase?

a. $4,041
b. $4,490
c. $4,355
d. $4,131

2. The following information is available for Flint Produce Market:

Sales $237,000 Transportation expense

Ending merchandiseinventory 30,500 Purchase returns and allowances
Sales discounts 2,400 Depreciation expense

Purchases 127,000 Beginning merchandise inventory

How much is Flint's cost of goods sold?

$9,400
1,800
2,000
35,800

a. $159,900.
b. $139,900.
c. $134,100.
d. None of these answer choices are correct.
3. Under a perpetual inventory system:
a. accounting records continuously disclose the amount of inventory.
b. increases in inventory resulting from purchases are debited to Purchases.
c. there is no need for a year-end physical count.
d. the account Purchase Returns and Allowances is credited when goods are returned to vendors.
4. An error in the physical count of goods on hand at the end of a period resulted in a
$10,400 overstatement of the ending inventory. The effect of this error in the
current period is
Cost of Goods Sold Net Incom

Select answer from the options below

a. Understated Understated
b. Overstated Overstated
c. Understated Overstated
d. Overstated Understated

21
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+* Exercise 1:

%8 Chapter 6§

A Company used the periodic inventory method and had the following inventory information

vailable
Units Unit Cost Total Cost
1/1 Beginning Inventory 15 $8,00 S$120
2/20 | Purchase 60 $8,50 510
7/25 | Purchase 30 $9,00 270
10/20 | Purchase 45 $10,00 450
150 $1,350

A physical count of inventory on December 31 revealed that there were 75 units still on

hand.

+* Instruction:

Answer the following independent questions (write the final answer only):

1. Assume that the company uses the LIFO method. The value of the cost of goods sold at
December 31 iS Soveeeennnnn.

2. Assume that the company uses the Average cost method. The value of the ending

inventory at December 31 is $

22
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+* Exercise 2:

A company uses the periodic inventory method and has the following inventory details:

Date Description Units Unit Cost Total Cost

1/1 Beginning Inventory 10 $5.00 $50

3/15 Purchase 40 $6.00 $240

6/20 Purchase 20 $7.00 $140

9/10 Purchase 30 $6.00 $180
Total 100 $610

At the end of the year (December 31), a physical count shows 40 units are still on hand.
Required: Write only the final answer for each of the following:

1. If the company uses FIFO, the cost of goods sold (COGS) at December 31 is

2. If the company uses Average Cost, the ending inventory at December 31 is

23
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+» Exercise 3:

A company used the periodic inventory method and had the following inventory information

available:

Date Units Unit Cost Total Cost
1/1 (Beginning Inventory) 10 $2.00 $20

3/10 (Purchase) 20 $3.00 S60

6/15 (Purchase) 10 $4.00 S40

9/25 (Purchase) 10 $3.00 S30

Total Inventory 50 $150

A physical count of inventory on December 31 revealed that there were 20 units still on
hand.

¢ Instructions

Answer the following independent questions (write the final answer only):

1. Assume that the company uses the FIFO method. The value of the cost of goods sold at
December 31is $

2. Assume that the company uses the Average cost method. The value of the ending

inventory at December 31 is $

25
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1. Salam Company counted its inventory on December 31, 2025, and found it to be $100.
However, the following items were not included in the count:
A store has currently goods with a cost of $20 on its sales floor that belong to Salam
Company but are being sold on consignment by the store.
Salam Company purchased $10 of goods that were shipped on December 27, FOB
destination, that will be received by Salam Company on January 3.

What is the correct total inventory amount for Salam Company on December 31, 2025?

a. $100
b. $120
c. $110
d. $130

2. An error in the physical count of goods on hand at the end of a period resulted in a
$10000 overstatement of the ending inventory. The effect of this error in the current
period is

Cost of Goods Sold Net Income

Select answer from the options below

a. Understated Understated
b. Overstated Overstated
c. Understated Overstated
d. Overstated Understated
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3. As aresult of athorough physical inventory Concord Company determined that had
inventory of $162,000 at December 31, 2025. This count did any determined that it had
the following transactions:

e Flounder Consignment store currently has goods with a cost of $31,500 on its sales
floor that belong to Concord but are being sold on consignment by Flounder.

e Concord purchased $11,700 of goods that were shipped on December 27, FOB
destination, that will be received by Concord on January 3.

Determine the correct amount of inventory that Concord should report.

a. $207,000
b. $193,500
c. $205,200
d. $173,700
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